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Topic:- GENERAL HINDI

1) T fRE U fawedl § ¥ smeweR @1 faey Tarsu|
1. Al

2. fFRIS™R

3. 3T}

4. SRR

Correct Answer :-

2) i feu e faweat & & <emgr &1 guEif T gl
1. 3faT

2. 3ipid
3. §BR
4, 3HT

Correct Answer :-

Correct Answer :-
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4) HigdT - qrell Tl & e wgaa forar 9= T U U Sarga|
1. BIART
2. ST
3. HIAIET
4. DA

Correct Answer :-

5) "3RI P WY ST 39 YaTar o7 o1 1 82
1. e Ak

2. i 1 offe o fyur =iy

3. ST T G817 g

4. Y HT FUBR do]

Correct Answer :-

. Tt siie 4 fur g

6) “TaT Ya- d Yde Y, i TR g8 US|

e o1 91 fawa fay, Seag yed faamg 1 17 § ygad ©¢ &7 919 ga1sa|
1. IS BG

2. ARA1 &G

3. 94 &¢

4. TR HG

Correct Answer :-

. AETTE

7) RG-S d¢ THTd 94 98 B
T I 91 PR 3| el fiwea g2
1. YifqHH SidR
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2. Y 3TDHR
3. SUAT 3ThR
4, 3IUTY 3ABR

Correct Answer :-

8) AR W 331 &1, SiffA 31 W e,
Hiaa st WR, g o< ST uRdl|

Rl d Fa A A S AT 82
1, A

2. R Y

3. YR 39

4, FIHI T

Correct Answer :-

o JIHE ™

9) ‘gHMATAT ¥ TgT UIT B AT 82
1. @

2. dral

3. gPH
4. g

Correct Answer :-

Topic:- GENERAL ENGLISH
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1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

Much water has flowed under the bridge since I came here last; the city is a bewildering maze of skyscrapers.
1. He has travelled far and wide

2. He hasn’t come back to the city for quite a while

3. A lot of changes have taken place

4. The speaker is happy to come back to the city

Correct Answer :-

+ A lot of changes have taken place

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

The demand for computer controlled robots is rapidly increasing.

1. out look
2. price
3. openly

4. number of requests

Correct Answer :-

« number of requests

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

After the teacher leaves the class, everyone to go out.

1. had been planning
2. plans
3. are planning

4, is planned

Correct Answer :-
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Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

She  the piano for four hours and her fingers
1. had been playing, were hurting

2. played, hurt

3. has played, hurting

4. has been playing, hurted

Correct Answer :-

« had been playing, were hurting

5) Choose the appropriate adverb clause from the options to complete the given sentence:
They can stay

1. they are

2. when they are

3. wherever

4. where they are

Correct Answer :-
« where they are
6) Out of the following four options, choose the incorrect sentence:

1. I come from a service family and we spent our entire childhood travelling from one part of the country to
another.

2. It's almost inevitable; a new government comes to power and a new minister takes charge of a portfolio.
3. I have said this before and I will say this again, Goa look lovely in the monsoon.

4, I understand from your email that you are looking for the cheapest way to get to Scotland.

Correct Answer :-

« I have said this before and I will say this again, Goa look lovely in the monsoon.

7) Out of the following options, choose the most appropriate usage to fill in the blank:
The new company has been placed higher than its arch rivals 20 most-admired global companies.

1. over a list of
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2. with a list of
3. on a list of
4, at the top of

Correct Answer :-

e on a list of

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Trichinosis and the tapeworm from the flesh of pigs and consumption of meat from cattle suffering with
tuperculosis are only some of the terrible consequences that may afflict flesh eaters.

P. Animals undoubtedly suffer sometimes frantically, with fear when being led to the slaughter house.

Q. It may be saturated to a greater or less degree with what may be called fear poisons.

R. The flesh of dead animals is diseased in another more subtle way.

S. The sight and smell of blood and the harassment by men and dogs before their final end, arouses
emotions which cause a toxic condition of the tissues.

6. When slaughtered, the poisons, which, by ordinary means, would have been eliminated through the
kidneys, are arrested in the tissues

1. RQPS
2. QPRS
3. PSQR

4. QRSP

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) Who is the first former Chief Justice of India to be appointed as the Governor of a State? /

YRA & YW Yayd T i<z $iA 8, 5 fhil 79 & Isaurd & w0 § g e e g
1. R.C. Lahoti / 3R ¥l @TgIc]

2. P. Sathasivam / Ut JUTRYTH

3. 1.S. Verma / 3 TH gHf

4. V.N. Khare / 91 TT &

Correct Answer :-

« P. Sathasivam / Ul GUTRIGH



2) In which of the following regions did Rani Avantibai Lodhi raised and led an army against the British? /

frefafaa # 3 f5a &7 9 3 eradiars <l 3 eRiel & faeme ue A1 %1 fmior fear
1. Sagar / H1X

2. Nagpur / FNTYR
3. Mandla / AISdl

4. Kalachuri / STeTER]

Correct Answer :-

« Mandla / Higdl

3) is the first station to be redeveloped through Public Private Partnership (PPP) route under
the Station Redevelopment Program of Indian Railways. /

YR ¥ed WM YD BRIHH & Sidiid Araoi-d—i~eil AIgiaR] AR & ATead o qAfdaiad
ERISIECINIR SRR gl

1. Dewanganj Railway station / SIdT7IoT XaTd SR

2. Habibganj Railway station / galaol dd TRH

3. Ujjain Junction Railway station / I SR YA WM

4. Gwalior Junction Railway station / TAICRR SR Ydd T=H

Correct Answer :-

« Habibganj Railway station / EICHS] Idq WA

4) Anju Bobby George is associated with which of the following sports? /
3ic] aTdt Sifet frafarad 3 9 fora S & awiid g2

1. Chess / RISl

2. Athletics / Qﬂaﬁaﬂ

3. Badminton / SSfHes

4. Shooting / BEUREIS

Correct Answer :-

. Athletics / TUAfeay

5) The Primitive form of cultivation ‘Slash and burn’ is called as in the Madhya Pradesh region. /
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AU AT WIS T DA PISMSATT  Hgdardial
1. Dahiya / GIIgAT

2. Dipa / faT

3. Khil / f&a

4. Vlare / e

Correct Answer :-

« Dahiya / GIfeaT

6) ‘When Breathe becomes air’ is the memoir of which Indian-American neurosurgeon? / ‘
= Y Y Taw, g HRAT- MR *RITS &1 TSR 8?2

1. Khaled Hosseini / LCHNERRIRE]

2. Siddhartha Mukherjee / fgref gt

3. Abraham Verghese / 3SIgH affer

4. Paul Kalanithi / UTeT Soef=1efl

Correct Answer :-

« Paul Kalanithi / Ofc =it

7) Ratio of width of India’s national flag to its lengthis ./
YR & T G B AT A TP Ga1S BT FUTd___ &
1.2:3

2.1.5:3

3.1.5:2

4,.3:2

Correct Answer :-

e 2:3

8) Gambia is surrounded geographically by which of the below African countries? /
T Hinifere &9 9 4 snpiot 3= | & fords g1 RRT g3 82

1. Sudan / JSI
2. Burkina Faso / W Bl
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3. Senegal / I
4, Ghana / YTl

Correct Answer :-

 Senegal /AT

9) How frequent is the reporting done on “the technical achievement on various aspects of MP ‘District
Informatics Center’ performance”, using DISHA (a web-based Information System)? /

fa=m (e 39-smenf¥a GE= yvTet) FT IUURT FId T, HAUST e I A= F5 ue=i= F
fafi=T ugqsi W de-ie! Sudaier W fea-t IR Rafén @i ot 82

1. Quarterly / OT&[®
2. Weekly / B IIRED
3. Yearly / ClLEY

4. Monthly / AT

Correct Answer :-

» Monthly / L1186

10) In MP, is the nodal agency for the production and processing of non-timber forest
produce. /
qH Y H, IR-PTY ([(AF-ewR) g73w@IE & Iare R Ha1eF & g Arsd ot 7

1. Ministry of Agriculture and Farmers Welfare / w 3R fora™ e HATe
2. Ministry of Earth Sciences / qa‘ﬂﬁsrﬁ HATAY
3. Federation of Madhya Pradesh Chambers of Commerce and Industry / H& TSI IO 3R I9NT dar Tg

4. MP State Minor Forest Produce Federation / T&T UcRT I1ed ISR a9 YISy 49

Correct Answer :-

« MP State Minor Forest Produce Federation / %I UGRI Yoy AR o Ul ST 9y

Topic:- GENERAL REASONING

1) Mohan is twice as good a workman as Sohan and together they finish a piece of work in 24 days. In how
many days will Mohan alone finish the work? /

e, Hig- Dt U T PRITR & &9 T ST 33T 7 3R 3 TH "4 HTH & TH YR 6i 24 A1 & gare Hd
g1 fraa fal & Mg S/t BT &) JUIE HT A2

1. 36 days / 36 fa
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2.21days /21 faq
3. 24 days / 24 f&

4, 18 days / 18 faq

Correct Answer :-

. 36days /36T

2) Find the missing number: / q&rmmﬁ
4,10, 22, 46,94,

1. 190

2. 140

3. 184

4. 180

Correct Answer :-

« 190

3) Find the average. / Gﬁ'\‘ﬁiﬂﬁ BY|
85, 24, 74, 63, 22 & 56

1.54

2.58

3.52

4. 56

Correct Answer :-

4) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
A & 1S e SreRY ud =S BT S W SRl g | e WAt g |

(i) TE45RM69AM

(ii) TE45RM69AM

(iii) TE45PM69AM

(iv) TEA5RM69AM

L.ii

2.1v
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3.
4. iii
Correct Answer :-
. i
5) If E = 5, RED = 27, then DANCE = ? /
gfe E = 5, RED = 27, 9 DANCE = ?
1. 26
2.25

3.28

4. 27

Correct Answer :-

o« 27

6) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

faiflTRrmaR @ § ¥R RE U F S gua s I Te T8 22

EUROPAGES SA

159 rue Anatole France
Hall B

92300 Levallois-Perret

France

(i) EUROPAGES SA
159 rue Anatole France
Hall B

92300 Levallois-Perret
France

(ii) EUROPAGES SA
159 rue Anatole France
Hall B

92300 Levallois-Perret
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France

(iii) EUROPAGES SA
159 rue Anatole France
Hall B

92300 Levallois-Perret
France

(iv) EUROPAGES SA
159 rve Anatole Fronce
Hall B

92300 Levallois-Perret

France

4. iii

Correct Answer :-

. 1V

7) If S and N are two sets such that n(S) = 14, n(N) = 24 and n(SUN) = 36, then find n(SON). /
gfe s 3R N & AT ST UPR & fh n(S) = 14, n(N) = 24 3R n(SUN) = 36, @ n(SON) FId B
1.3

2.5

3.2

4.4

Correct Answer :-

Topic:- PEDAGOGY

1) The temporal-lobe language region is known as: /

SRRYTH-TF HTIT & P Hal ST 8:
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1. Morgan’s Area / HiINT+ &5

2. Broca’s Area / ST &

3. Sherrington’ Area / SITSTas &1
4. Wernicke’s Area / afvie &=

Correct Answer :-

« Wernicke’s Area / at=s &=

2) Evaluation approach of lesson planning is criticized on the ground that: /

UTS TS & Heuid RS0 P STaraT 9 & AMUR TR B &1d! 2

1. It is not at all structured. / UG w W T8t g

2. Tt integrates different teaching points. / T8 fAfH7 R0 figalf ) Ui d e g

3. Pupils are left totally unattended. / AT &1 T}t TRE ¥ U Bie fear Srar gl

4, Tt does not take individual differences of pupils into account. / dg faenflat & safaqra Adyel &l e ° ERIELERI|
gl

Correct Answer :-

« It does not take individual differences of pupils into account. / g ﬁ?]TfifZﬁ & HfeaTd Il?fﬂzﬁ H A H :l_Eﬁ Gl
gl

3) In the evaluation approach of lesson planning, the behavior changes are evaluated: /

TS I & Gedich ¥ vl §, AdeR A URad=T &1 Geuid 6T ol &:
1. After each unit / TAP sa’7|§ & diq
2. After the teaching is finished  TRI&f01 THIT B4 & &1

3. Regularly along with teaching / Fafid ¥ ¥ fRemr & 9y
4, Before giving instructions / BELIEEES] tl_b'?f

Correct Answer :-

« Regularly along with teaching / Fafta = 9 fRreor & Y

4) In education, the term 'curriculum' indicates: /

fren ® s ursum ' A BT Idha@ €
1. Extra-curricular activities / T3 aR Tfafafet

2. The methods of teaching and the content to be taught / fRI&0T gt qur UgTs ST areht ardt
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3. The evaluation processes / edTh Tichar
4. The text-material to be used in the class / PE&T i Ugad Eﬁe{ CINIIRD R

Correct Answer :-

« The methods of teaching and the content to be taught / TRI&0T Ugfcri Tt UGIs S arett Araedt

5) Learners with dyslexia may manifest: /

fefRrar @ Wifea Rrenfay # = v gidt 8:
1. Personality disorder / SAfadd fAdR

2. Mental disorder / ATRI® [dHR

3. Behavioral disorder / SIHIGS] [dBR

4, Reading disorder / Yo fqpR

Correct Answer :-

» Reading disorder / US1 IEEIN

6) The gland that was conditioned through Classical Conditioning experiments was: /

U foraeT e e FeRufafSa Ugoad (FaTRIG T Bral=I=iT), Wi gRT foar 7T AT:
1. Parotid gland / RIS U

2. Thyroid gland / 3¢ AR

3. Pituitary gland / TS U

4. Adrenal gland / 318 TR
Correct Answer :-

« Parotid gland / aizllés PIR]

7) When a teacher involves a visually challenged learner in group activities with the other learners of the class, she
is: /

:lf@ﬁt&lﬁ,Wﬁﬁﬁﬁﬁr&mﬁﬁ$&n%wﬁr&nﬁfﬁ$muwwﬁrﬁﬁﬁﬁmm%,
dg:

1. helping all the learners to develop sympathy towards the visually challenged learner. Rkt ﬁT&”ﬁﬁﬁ Eal He E@

fRremeif & wfa weryfa faw R w7 & Aee el g
2. creating barriers to learning for the class. / P&l & ﬁfq SR A ST ITd Pl %l
3. making all the other learners lazy and lethargic. / 3= gt fRrenfaat o oraht 3R gid RIS %I
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4. acting according to the spirit of inclusive education. / FHTART FRI&T &1 UG & SR PRI B

Correct Answer :-

« acting according to the spirit of inclusive education. / TGN fR1em o1 Yia T & HJIR BT %l

8) When expected external incentive for a behavior decreases the intrinsic motivation for that behavior, it
is known as: /

oiq fdft raeR & e aed tidre 9 3ufie, 39 suaeR & i siale IR sa e ¢ ®, dr ga
Y U A ST ST 8:

1. Hierarchy of Needs / STdRIhdl UalJh H
2. Over Simplification effect / 3T TRATDHUT THTT
3. Over Justification effect / 318 i quT@

4. Circadian rhythm / STa-Th 1T 3T (RBISTT ReH)

Correct Answer :-

« Over Justification effect / 3P 331%@1 UYHTd

9) The main aim of the classroom teaching is: /

ST R80T HT BT ST 7

1. To help students pass examinations. / BT B TRieT IO A | Hag BT
2. To develop personality of students. / BT & Al Pl [AHmRId ST

3. To develop an inquiring mind. / ﬁﬁf@m faHRIT ST

4. To impart the curriculum. / YTGAh H Ul hRT|

Correct Answer :-

« To develop an inquiring mind. / mm fasRId ST

10) The cognitive process known as thinking occurs when an individual freely considers a
variety of potential solutions to artistic, literary, scientific, or practical problems. /

TS Ufehar, o9 R & 1§ ST SI1dT 8, 99 i1 § Oid s sufad ool e,
Tifef®, dgie a1 e wars & guifad fafay gurem & 9 # goa v 4§ AR sxar g1

1. Convergent / SR
2. Logical / IIGEEg
3. Divergent / SOERI

Page- 15



4. Heuristic / Hﬂ’m:ﬁ

Correct Answer :-

« Divergent / SOYRY

11) Educational Psychology contributes to education through ./

Reifore aifagm= & HreaH | fRren # aeE a1 8
1. Understanding pupil’s problems / et &t Tt o ‘VTFIQ%[
2. Understanding teacher’s problems / e ot gaErey & W%T

3. Understanding curriculum / YT&AhH HH iH:I

4. Understanding educational problems / 3?[&‘”%@ TS &t {-Il-l‘éi:l

Correct Answer :-

« Understanding educational problems / Qeffores THRISH Bl HH%I:I

12) Which of the following should a teacher adopt in a lecture?/

TP R1&® &1 e @eR) # FufeRaa § 9 f5d sraamr anfeer
1. Elongated tone/ faeaig @R

2. Moderate tone / HEH Y

3. Precise and high tone / TU¥ 3R 3= TR

4, Precise and low tone / Y 3R ﬁ'ﬁw

Correct Answer :-

« Precise and high tone / ¥U¥ 3R T TR

13) Which of the following is the most appropriate method to monitor the progress of children with
learning disabilities? /

AT Sreryanaii arel T= &t Wit B PR & fore e o @ &1 <) fafyr waifrs Sugea 82
L. Case-smdy/ﬁ-a{w

2. Behavior-rating scale / TAER-IET Wbl

3. Structured behavioral observation / TXf<Id SI1d slf:ldO 3gaIp
4. Experimental method / RN fafdr

Correct Answer :-
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« Structured behavioral observation / T I<Id Oqldsllr:lch 3IAIH

14) A studious pupil is repeatedly failing in class tests. What is the course of action the teacher should
take? /

TP HEd] BT TR-IR BT F G0N # SRIpd 3871 81 59 ATHA A TP fRUe/w B 1 H31 I1fee?
1. Give her grace marks. / I Ramdt st ¢ a1fgul

2. Give her impositions. / 3 &8 &7 MR

3. Find out the reason for her lack of performance. / ITb W&f H HHI & BRI BT Ul T ﬂT%QI

4, Complain to the parents. / HHTEH! I FRrwad B! ElT%'QI

Correct Answer :-

« Find out the reason for her lack of performance. / 3P L«ld-‘lh T HH & HRUT BT UAT T EITI%'QI

15) An individual’s personality disorder is most likely to be based on: /

ol safea &1 aafada faaR, = R saTRa 819 &t 9ad eiftre duTaAT 8:
1. Emotional shocks / HIG-THD AHTHTd

2. Emotional enjoyment / HTG-T#HD 3{THG
3. Ordinary feelings / TTETRUT HIGTE
4. Physical condition / RN fRufa

Correct Answer :-

« Emotional shocks / HId"THD AT

Topic:- HOME SCIENCE

1) Name the main protein in the skin that strengthens the epithelium. /
T H GBI MEH BT AW 9138 &l SUDH T B Tolgd I e

1. Chitin / TS

2. Langerin /aﬁﬁ:{

3. Laminin / QAR

4. Keratin / e

Correct Answer :-

« Keratin / Bfe
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2) Food poisoning ‘botulism’ is caused due to ingestion of. /
@ fawTeRTan ‘dig e ¥ siaifgur & SR EA B
1. Bacteria present in food, not toxin /

T e o SURR Siary, fasTedar Ta!
2. Fungi present in food, not toxin /

QT yerd o SURRId a, fasTeRar el
3. Toxin present in food, produced by bacteria /

STtaTy] gRT S, W vard & Iufkyd fasmadar

4. Toxin present in food, produced by fungi /

@ yerd & s gRT S fauTgaar

Correct Answer :-

» Toxin present in food, produced by bacteria /

SiraT gRT S, | verd o Jufkyd fasmaar

3) Identify the tissue which is made up of cells which are closely packed with one free surface. /

SH Hd® Bt UG B ol LT PIRTG137 F 99901 § 5 TH go¥ ° G2 §1d & SR TP Yo ¥ a1 gid 5|
1. Connective tissue/ Tl SHdd

2. Nervous tissue/ AT SHdd

3. Muscular ﬁssue/ﬁ"«’ﬂqm

4. Epithelial tissue/ 3UDh Il SHdh

Correct Answer :-
« Epithelial tissue/ 3UD AN SHdD

4) Mental retardation with stunted physical growth, defective teeth, protrusion of the tongue and loose
wrinkled skin are the symptoms of: /

HASR AR [T, Srugef gid, ity &1 o= ok Sefht g1 arelt wan & Wiy wrFRie da
At & @eror T

1. Dwarfism / 9IH-dl
2. Goitre / TICNIUS
3. Myxedema / THreRitSTaT

4. Cretinism / SISAHAT

Correct Answer :-
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 Cretinism / SISArHAdI

5) The component of controlling in which actions and outputs are examined in compliance with standard
is, ./

=0T &1 gew RRTd aFe & A1y 3uTa § $Rars R Seyc #I A St e, 3l
1. controlling / =0T

2. checking / STl

3. adjusting / THTATS

4. changing / URET-RIS

Correct Answer :-
» checking / S

6) The hormone that controls the excretion of water from the kidneys is: /

I8 STHIA S 99 ([Pe-it) A & & It DI FFrafaa o &:
1. Oxytocin / TG

2. MSH / THTHTH

3. TSH / EilTag=

4. Vasopressin / 3EORA

Correct Answer :-

» Vasopressin / JA0RE

7) The common intestinal infection which leads to dysentery is: /
3fiell T THTY JpHUT Sl TR B ITH BT &

1. Gastroenteritis / SAY

2. Infective hepatitis / e THd %QCI'iEH
3. Salmonellosis / IR RS
4. Shigellosis / SeTRIY

Correct Answer :-

« Shigellosis / SURSGHIRSRS

8) Obesity leads to and diseases. / Hied 9 Gﬁ? IRT 33f iG %'l

1. Overweight, paralysis / 3B gol-, T&TdTd
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2. heart disease, diabetes / §qd T, H@Ts’

3. Osteoporosis, breaking of bones / H@Eﬁ'ﬁﬂ (&m, SRy I gl
4. Overweight, mobility problems / &ff%a\_ﬂ:f, I RRUNG] aﬁwwq

Correct Answer :-

« heart disease, diabetes / EW@‘T, I{E{ﬁ%’

9) Reflex action is an action where has no role to play. /

yferat forar ue O fovam @ forad @1 BIg YA T8 Il 2
1. sensory nerve / Tdgal diebT

2. brain / HRT&H

3. spinal cord / % ¥o

4, motor nerve / IR AT

Correct Answer :-

« brain / ARTSH

10) Pasteurization involves temperature below: /

TR (UTgRTSSI) # 59d fet araar sfaf+ifed giar 8
1. 110 degree Celsius / 110 & IfR@w

2. 95 degree Celsius / 95 feiht afcrag

3. 90 degree Celsius / 90 oot afery

4, 100 degree Celsius / 100 it afcaw

Correct Answer :-

« 100 degree Celsius / 100 i afery

11) Crippling paralysis of lower limb is caused due to the consumption of. /

__ %3N P SR A 30T FT uTITd g 2|
1. Kesari dal / PR} (GURT) &I

2. Argemone Mexicana / 3TSHI RfdTeaTT

3. Minor millet / BICT TTSRT

4. Maize contaminated with alpha toxins / 3{ethl ICLIEG] qﬂ’ﬁﬁ@ Eﬂﬁﬂ HIDT

Correct Answer :-
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« Kesari dal / PRI (GORY) &I

12) Why is the victim not allowed to walk in case of snake bite? /
Y BT & ARTe § UifSd oY &l 71 ge o1 anfee?

1. He may faint. / 98 SEI 81 Gl g

2. He may fall. / 98 TR I 81

3. He may take it easy. /%@Wﬁaw%l

4. Walking promote circulation. /ﬂ?ﬁ@[?ﬂﬁ EIN aﬁﬁ@f@ﬁm%l

Correct Answer :-

» Walking promote circulation. /wﬁﬁwwﬁsﬂﬁaﬁ oTd %I

13) Which of the following functions will be interrupted, if ones abducens nerve is damaged? /
afe fp=ft 1 sraad= T aifosrea 8Y it 8, o frer ot & @ @i w1 afera ghme

1. Folding of tongue /Gﬁﬂ-fﬁ%:ﬂ

2. Movement of jaws /\_ﬁléﬁ‘ﬂ%f

3. Movement of neck / & &1 T

4. Movement of eye ball / NS P

Correct Answer :-

* Movement of eye ball G EU I NECARIIG

14) vitamin Cis very important for: / faeTf¥E Cﬁﬂ'%ﬁm WW%
1. Formation of connective tissue / SaTSI S & HH0T

2. Good eye sight / ITH TP

3. Preventing anaemia / Q:ﬁﬁltﬂ CARICE R

4. Strengthening bones / E@ﬁﬁﬂﬁ@ﬂﬁﬁ

Correct Answer :-

¢ Formation of connective tissue /wﬁﬁ $Hddh % ﬁrlfUT ff

15) Proteins are essential for: /'Cl-']'(ﬂq 3'\"4%? ﬁ'ﬁ[ GI'IHW%
1. Decreasing blood pressure / Idd QI HH & & foru
2. Getting essential energy for the activities of the body / IR Dt WSﬁ%ﬁm SRR Sl tﬂef%ﬂ
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3. Growth and development of new cells /:lgﬁﬁlﬁ&ﬁﬁq@ 3R fdpry
4. Quick response of the cells to react / TTcifehal = & [TT BHIRIDBISN B! =fEr Hﬁm

Correct Answer :-

+ Growth and development of new cells /%W&ﬁﬁg@: 3R fawr

16) Some of the foods which require compulsory BIS certification under PFA act are:
1. Food colours, food additives
2. Instant milk food, infant milk formula
3. Fruits and vegetables
4. Meat and meat products /
$o @ yerd SR PFA Siff~y & dga sif-rarda: BIS yATOa=ur & sazawar &
1. @1 1, @I ATl
2. @Rd g7y HieH, @Rd g7y 3MER
3. % 3R Feelt
4.9 3R "I IATG
l.aandc/a 3ﬁ? c
2.aandb/a 3R b
3.aandd/a GﬁT d
4,candd/c 3R d

Correct Answer :-

e aandb/a GﬁT b
17) CANCELLED

Give the correct full form of SASMIRA. /

TIUCHTHASITSSARY (SASMIRA) HT Hal YUl U Fa13¢|

1. Silk and Synthetic Manufacture and Research Association /
2. Synthetic & Art Silk Mills and Research Association /
3. Silk and Art Standard Mills and Research Association /

4, S}andprds a_ngl Spc?ciﬁcati_qns pf Mills & Re-:sea_rgh Association /
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Correct Answer :-
» Synthetic & Art Silk Mills and Research Association /

18) CANCELLED

The following aspects that are closely related to Programme Planning are: /

frafefad ver, eriea oo A Fecan T&fiq €
1. Plan of work and calendar of work / BT TS 3R B BTt (hTH &I %ﬁsv)
2. Supervision and coordination /‘Zl'iﬁ&l'U[ 3R IHIgT

3. Coordination and plan of work / FH<JI" 3R B GIoHT

4. Coordination and calendar of work / §H<dT 3R P Preresf (PTH BT aoc'fs{)

Correct Answer :-

« Plan of work and calendar of work / B Ao 3R BT Breres (PTH DT W)

19) CANCELLED

Credibility in communication means: /

TR § fazawsiaar 1 v :

1. Trustworthiness and competence / JddTl 3R g

2. Complete and trustworthiness /TIUTFIT 3R fazag=ioar
3. Competence and complete / pjpagest GﬁTU;UhT

4, Profitable and competence / ATHGIISD I 3R gra

Correct Answer :-

» Trustworthiness and competence / Jd&dl 3R I

20) CANCELLED

Which of the following is an intense educational activity for motivating and mobilizing a community to action? /
frafafea & @ o sRaE! & e vy o1 afasita 39 iR IRvd o3 & fog dig Afee fear e
1. Campaign / S

2. Seminar /@ﬁ-ﬂﬁ

3. Colloguium /W'@Tq
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(VX

4, Brainstorming / TTHfe e feid= (sFSITHT)

~

Correct Answer :-

» Campaign / ST

21) CANCELLED

Which of the following is NOT a management approach? /
frafafea & @ o9 a1 yeeys ST 8 82

1. Double Entry System / WQ@W

2. Human Relation / ATFd Iy

3. System Approach / IR IUNTH

4. Classic / FATID

Correct Answer :-

e Double Entry System / W@ﬁlﬂ

22) CANCELLED

Advertising is based on which of the following functions of communication? /
foasTom, AR & Fefafea 3 9 foa ort wR snutia g2

1. Influence / UHTd

2. resource / @

3. Instruction / \’rﬁﬁi‘ﬂ (FHRM)
4. Incorporation / [GUES W\lﬁﬂ'ﬂq)
Correct Answer :- | |
* Influence / UHId
23) CANCELLED
is an individual’s failure in one sphere of activity which is covered up by success in another sphere. /
, TAfaf & Te & o T afaa 31 fawaar ¢ o foredt s &9 & 9oadr & e& ol g
1. Projective identification /U&qtﬁtl_a'?lﬁ
2. Object / d¥g
3. Compensation / H3{TAGIT
4. Fantasy / U Hicud (ﬁﬁ?ﬁ)
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Correct Answer :-
» Compensation / HHTGSI
24) CANCELLED
is the movement of the eye across a design and is a kind of organized movement in continuity. /
_ U faois & ari 3iR Sii) &1 Heed 7 ok FARavar # wfed waa &1 Te bR 21
1. Rhythm / <9 (ﬂ?’:l')
2. Emphasis / UHIT (stﬁﬁm)
3. Balance /FEI,FF[ (ééﬂ)
4. Observation / fART&f0r (Gﬁ’&qﬁm

Correct Answer :-

« Rhythm / @4 (RgH)

25) CANCELLED

Epidiascope is also known as: /mm P g i ST STrar %:
1. Opaque projector / SRR nafts (G'h'% TIoaeR)

2. Overhead projector / 3aReS H&TUH (3aRBS Hoide)

3. In-direct projector / Y& gaf= (ETT-S'IW Eh@TET)

4. Filmstrip projector / ﬁb—('ﬂ'&fq g (ﬁ@@q TiolaeR)

Correct Answer :-

 Opaque projector / SR yaft= (D Ulole)
26) CANCELLED

Which of the following are twill weave fabrics? /
frafifad 9 4 #19 9 §ia g1 U 82

1. All of the above / SURTa] FHT

2. Calico, Sergé, and Drill / W, Tqof Gﬁ? ﬁj’a

3. Drill, Calico, and Gabardine / %ﬂ, P! 3R TafeT
4. Gabardine, Drill, and Sergé / ﬁaﬁ:&f, %Aﬁ IR ol

Correct Answer :-

o Calico, Sergé, and Drill / Hcip!, Iof 3R fga



27) CANCELLED

Operant conditioning is also called as: /

FraTIRIe Srgga (3iTuie det=if-m &I et ot FeT ST 8:
1. Essential conditioning / JTdRYP 3JH I (@'@Iﬂﬁ ﬁ?ﬁ"'f)

2. Instrumental conditioning / HTY JPp T (s\gﬁcm GG

3. Classical conditioning / TeRUTATRT S{IE T (Fiiichal el
4, Observational learning / 3aQIH TTH (TeSARA DS IR

Correct Answer :-

« Instrumental conditioning / T 3Dl (é%grl'dﬂ GG

28) We normally walk straight without falling. Which part of the brain brings about this coordination? /

B I w4 & fa1 iR 9 e €| #ikrse &1 31 a1 faar a8 9999 o1 82

1. Medulla/ﬁ(ﬁﬁﬂ

2. Cerebrum/QﬂW(@Tﬁﬂ)

3. Optic lobes /Wm (\Hﬁ@a?_m
4. Cerebellum / &l_fﬂ:lf\‘?‘lm’? (ﬁﬁv_ﬂﬂ)

Correct Answer :-

« Cerebellum / TARTSH (IReTH)

29) Folic acid requirements for a pregnant woman is:/

T THad aiear & fore srawas wifers TRIS HIAET§
1. 500 ygm/day

2. 400 pgm/day

3. 250 ygm/day

4. 200 ugm/day

Correct Answer :-

» 400 ygm/day

30) Which part of the tongue has taste buds to taste bitterness?/

Y & P ) § wearee o1 @i 9@ & 1T Wie iIe gl &2
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1. Cater of the tongue /@H%Wﬁ
2. Sides of the tongue /Y & IR |
3. Back of the tongue / Y & dig |

4. Tip of the tongue / Y & 3T HIT H

Correct Answer :-

e Back of the tongue / Y & Y |

31) Salmonella typhi causes: /
FreH1Fer s HAE SR BT $RUT 471 §:
1. Tuberculosis / &3 T

2. Diarrhoea /@m

3. Malaria /nﬁﬁm

4. Typhoid / CITHITS

Correct Answer :-

e Typhoid / CISWITS

32) The diet of a man living on bread and meat will get .
2T SR 7 W SHfad 387 a1e U safed o QRIS Sl
1. all nutrients / 4} TIN% T

2. a balanced diet /“v’i@%ﬁ SIBR

3. roughages and vitamins / ®[eTdTe] 3R fgerfim

4. only carbohydrates and proteins/ahdﬂ d’)ldTGl’i%c ﬁ?m?ﬂ:[

Correct Answer :-

« only carbohydrates and proteins / Had WTGI%%C 3R WA

33) We should make water safe and free from germs and bacteria by )
B4 oTel P! YR SR AU TG SHau[gedd & gRI ST =1

1. decanting and filtering / FFRERUT 3R i

2. boiling / RG]

3. keepingitina refrigerator/B@QQﬁ?ﬁ?ﬁwef

4, all of these /Gqﬂaamﬂm
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Correct Answer :-

. boiling/G_GﬂE_:T

34) Tool(s) of management used at the top management level is/are: /

o F yaya WR IR AT [PU SF a1 Ua U SUBRU 8:
1. Menus/fﬂ

2. Expansion and leadership / ERSIR GﬁT :IQCOI

3. Staff duty lists / T ST gl
4, Time and work schedules / JHY 3R B e

Correct Answer :-

« Expansion and leadership / RS G?R :Iq«:l

35) Shyam sneezed when he inhaled dust. This kind of sudden reaction is an example of: /

TITH 3 i A9 P R YADU D1 3R & forar o 37 St 3 715 | 3o 817 arelt 39 ave &1 ufafshar,
1 TP SATEXV 3|

1. Reflex action / Ufciaei! fspaT
2. Muscular action / U= fopam
3. Voluntary action / W5 fSpa

4, Coordination / JHdY

Correct Answer :-

« Reflex action / Ufcradf foram

36) The cell organelle that controls all the activities is: /

HIRHT 3T o |t fafafiral ot fFrafa srar g:
1. Mitochondria / ATSCIb I3 AT

2. Endoplasmic reticulum / 3f=T: Ueqdl SifcrepT

3. Nucleus / T

4. Ribosome / JSSEH

Correct Answer :-

+ Nucleus /:ITW
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My friend got her leg sprained. What advice can be given for first aid? /

W & TR A A o 1S § 1 S TAUT T WY SUAR 3T 91t e?
1. Let him take rest for some time / 3 YS! & & [o1T SR B 1 AU
2. Apply oil and massage thoroughly / d& TITHR TS H=AT AT

3. Apply heat using hot pack / BTc U BT SIS B §Y ST &1 1R
4. Apply ice in the affected area / THTIAd &F H T H T AT

Correct Answer :-

o Apply ice in the affected area / TR & § S BT Il 1Tl

38) Which one of the following is the largest and the smallest bone in our body?/

TR A a4 T 3R Yo Bt g5l S W 82
1. Skull and vertebrae /m 3R HRATHT
2. Thigh bone and stapes /GITE[EBDIE'@ 3R IPE

3. Vertebral column and nails / HRIBHT TH @T:ﬂ@f
4. Upper arm and finger bone /m Yell 3R JTedl ﬁ%ﬁof

Correct Answer :-

« Thigh bone and stapes /Wﬂ&’ﬂ@@ 3R IP1g

39) Which of the following is a non-living part of the cell? /

et o O i 91 SIRIST T TS Seiifad YN g2
1. Cell wall / PIFRIBT-HRT

2. Plasma membrane / Sliaged &l

3. Protoplasm / SIaged

4. Nucleus /:ITM

Correct Answer :-

o Cell wall / SIRIBINRT

40) Which of the following types of muscles are in action when you kick a ball?/

W 3Ty g B IR W ARG € ol f59 bR o1 Ui wriva gidl 82
1. Voluntary muscles/@mﬂw
2. All of these / IRIgd g
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3. Involuntary muscles / 3= uRET
4, Cardiac muscles /E’Eﬁqw

Correct Answer :-

« Voluntary muscles / wWiwse UfRmr

41) During meal planning of preschool age children, one should avoid: /
TR 3R & Tl Bt WIS TIeHT & SR, 38 THRAT AR T:

1. Vitamin A rich foods / faeTiE A WWW‘&

2. Foods from family pot / YUX ®T Il

3. Low energy foods / hH Sl aral W uaref
4. Finger foods / fhTR Wi

Correct Answer :-

« Low energy foods / ©H Sl aret @Tel U

42) Never try to put off fire with water in case of electrical fault because: /

footelt WRTe & ST @ arelt 3 B Ff i U T g @1 v T B wife:
1. Water spoils the entire wiring / U1 ¥ U1 a1 W1 g1 SITweft|

2. Too much water is required / $b o Sgd 31U U 1 STaIB T |

3. Water is a good conductor of electricity / T, fsTell T 3reT Geerd B 2|

4. It is time consuming / 399 dgd 3fIH THT AR

Correct Answer :-

e Water is a good conductor of electricity /UFﬂ, foroTett &1 WW@W%I

43) Malnutrition (stunting) represents:/ FUIYUT (F&f) g=Itar &:
1. Low MUAC for age / 39 & fgdTd 9 1 THgE!

2. Low height-for-age / 39 & f3UTd T &Y THTS

3. Low weight-for-height / TITS o fgTq ¥ & doi

4, Low BMI for age /@%%wﬁwﬁﬂ@%

Correct Answer :-

¢ Low height-for-age / B'Haa%ﬂ'ﬁ@m FIWIE;
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44) Normally proteins are body builders, but they can provide energy when there is short supply of .
AT T IRR & Fatar gid &1 afeT 3 o1l Ue@ & 9ad § o d P HH AMYfd gl &
1. supplements / YIh

2. vitamin / faeT®=

3. carbohydrates and fats /EIO—I_Q;%'IE@A—C’ 3R a9

4. roughage / Rl

Correct Answer :-

» carbohydrates and fats /Eb—FGﬁET%gE 3R T

45) Sugar, salt, vinegar, etc are used in foods like pickles and jams because they act as: /

qR, 9w, RR®T 311 BT IUGNT AR 3R S S @RI UgTd| | foan oirn § Fiife d §9 &0 § S o &
1. Antioxidants / PIREICRIEIRET

2. Flavour enhancers / TG a8&

3. Preservatives / TR &®

4. Taste makers / ¥dTg fAAfdT

Correct Answer :-

e Preservatives / U&TW

46) Minerals are needed in small amounts. Which of the following is a mineral deficiency disorder? /
@Sl BT SMaRadhar e 7T | gidt 31 Fafialaa ¥ @ «F te @f-e srquiar faor 82

1. Scurvy/ﬁ’J_Cﬁ

2. Night blindness / il

3. Goiter / Tl

4, Beri beri / §%1 _1

Correct Answer :-

. Goiter/‘t?f?ﬂ

47) Chew cooked rice in your mouth for some time. You will get a sweet taste. What may be the reason?/

O 9T & T 3T 3vA g A UHT g3 ITad gaT | STID! TP HIST TG RIS | SHSHT SR FIT &1 ThdT 82

1. Digestion of carbohydrates to sugar starts in the mouth. / It & fom ¢I®|TGI$C§C CARCIER] 11_6’ gl IR HESIGI] %I

2. Saliva contains sugar molecule./ TR I & 3] Eﬁﬁ %'I
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3. Cooking of rice break down carbohydrates. / dTdcl bl YD d?l@lTSI'i%C ﬁ?ﬁgé—cn% I

4. Rice contains glucose. / ATad H ’@Tﬂ BT 8l

Correct Answer :-

« Digestion of carbohydrates to sugar starts in the mouth. / =1 & fog m@? BT U Hg k| T HEIGIE
48) What is the first aid for bleeding nose? / IHAR WWWWWW@HT%?

1. Wash face with hot water /nﬁm:ﬁ@r%ﬁﬁ H@fl

2. Apply nasal drops / A& H STaH dTell SIU SWHA HH |

3. Sit upright with head backwards / MR dw ot @TW@Q@Q@EWI

4. Blow nose to remove blood /waaﬁﬁmaﬁasmwﬁwﬁl

Correct Answer :-

« Sit upright with head backwards/mﬁtﬁ@?ﬁ @?WEQ@@%B'GITE{I

49) The tough elastic fibrous tissue that attach bones is: /

9% TOR AMIGR YRAGR SHad ol gigdl $i Aisd &
1. Muscle / TGOt

2. Tendon / HUS

3. Cartilage / SUTRY

4. Ligament / 3R IS

Correct Answer :-

« Ligament / 3R I

50) Amylase rich foods are prepared to increase:/

TR T Wre Uerdf @) = @) 9eM & fore dur [ wmar §:

1. Fat content of complementary food /Y& U1 &1 a1 It

2. Energy density of the complementary food / YIh IS 1 Sroll FoTell
3. Carbohydrate content of food / Waﬁmw

4. Protein content of the complementary food / I IS &1 TS argedt

Correct Answer :-

« Energy density of the complementary food / YIh IS B S0l FoTd]
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51) The nutrient that is utilized by our body as a main source of energy is: /

TS e, FORTST STIRT TR YRR §RT 361t & Y& TId & U § foan o 3:
1. Carbohydrate / BIEGIEST

2. Protein / IEH

3. Vitamin and minerals / faeTfi SR @ gerdf

4. Fat / T

Correct Answer :-

« Carbohydrate /5@%’@?

52) A food is considered to be adulterated if some constituents of the food is removed or added in to it. This
statement is given under: /

gfe WIvH & $© Uch &1 SN ST IT SirST SITdT & af YIS B fRrarad) 711 ST 8 1 98 $UF 595
dgd fear mar 8:

1. FPO
2. BIS
3. PFA
4. AGMARK

Correct Answer :-

. PFA

53) Starch in khoa can be detected by using: /

G A W BT Ul SUPT STIRT BB T ST Ghdl §:
1. Alcohol / &m
2. Tincture of iodine / STATSI BT TN

3. Hydrochloric acid /Eﬂ%@ﬂ?‘ﬁﬁﬂg ST

4. Carbon tetrachloride / CAREH EQIOK’I\NI'%\’S

Correct Answer :-

« Tincture of iodine / SIS BT TNy

54) The common adulterant found in turmeric is: /

goc ! § UTaT ST 9Tl 9THT Uiy &
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1. Colour dye / TdhT T

2. Metanil yellow /fIETI%IT'[‘:ﬂFIT
3. Lime water / =ﬂqu1‘rﬁ

4, Talcum /%W

Correct Answer :-

« Metanil yellow / Oerd g

55) Sealed canned meat should be processed at: /

Hiee fEsmde w7 & fAe W Sfea (GiRRs) fear st anfeu:
1. 131 degree Celsius for 40 minutes / 40 ﬁﬂ?‘.’%m 131 %"Jﬁm
2. 110 degree Celsius for 60 minutes /60 ﬁ-FIE’%ﬁ*I’Q 110 %‘Jﬂ@m
3. 130 degree Celsius for 40 minutes /40 ﬁq?f%ﬁﬂ 130 %’}ﬂm
4, 121 degree Celsius for 60 minutes / 60 ﬁltl—c’aﬂ%lq 121 %sﬁ@rf?aw

Correct Answer :-

» 121 degree Celsius for 60 minutes / 60 ﬁﬂ?%f@ﬂ 121 el Af_my

56) The requirement of thiamine increases with the increase in: /
= ot gfs & 1Y yrafis &) sraxadal 9¢ Wl 8:

1. Energy intake / Sl &b 31'd‘/‘{~6UI

2. Mineral intake / LIRS eﬁfrgm

3. Protein intake /Fﬁ?ﬁqg? W'UT

4. Vitamin intake /W% &Iﬂ"j_E:’UT

Correct Answer :-

» Energy intake /W% WUT

57) The total weight gain during nine months of pregnancy should be: /

TUTTRIT & 1 7E 1 & R $ 961 aoi 51471 A1T:
1. 15— 20 kg / 15 — 20 foramm
2. 10— 20 kg / 10 — 20 fpaam™
3.10-12 kg / 10— 12 foheamH
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4.10-15 kg / 10 — 15 foparumy

Correct Answer :-

. 10-12 kg / 10 - 12 faum™

58) Fruit products order was promulgated by Government of India (GOI) in 1946 and was revised in: /

1946 H YR TP (SN GRT HBd IS S ST fam 1/ ar o1 3k 39 fA o & "=t fear
T UT:

1. 1962
2. 1960
3. 1955
4. 1965

Correct Answer :-

» 1955

59) Which of the following methods encourages the growth of microorganisms for preservation? /

et % @ o @ fafdy, e & fog geasial o1 gfs ot Jerd &2
1. Fermentation / TpUa

2. Drying / fSTciiaRor

3. Blanching / Ta¥o (sif<i)

4. Asepsis / S

Correct Answer :-

« Fermentation / fhUa

60) Which of the following is the ready source of energy? /

Frafafad 7 9 19 Sl o1 IRa 9d 82
1. Starch / %/
2. Cane sugar/ﬁﬁﬁﬁ-&fw

3. GIucose/TEﬁl'ﬁTT[

4, Fat/ 94l

Correct Answer :-
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. Glucose/‘@'flﬁf

61) Which one of the following foods requires severe heat treatment for preservation? /

FrafeRaa # @ f5a Wi & Reor & e Srcafires ST & SUUNT Bt Ta=gehdl gldl 82

1. Foods with pH value 5.6 / 5.6 pH A9 aTal IS
2. Foods with pH value 2.5 / 2.5 pH HF dTal HIoH
3. Foods with pH value 3.5 / 3.5 pH HH aTdl Yo

4. Foods with pH value 4.6 / 4.6 pH T aTel HIoH

Correct Answer :-

« Foods with pH value 5.6 / 5.6 pH | dTe HiSH

62) An Indian reference women’s BMl is: /

T YR Afedl &1 Sieaas Hehid e g:
1. 20.2 kg/m?2

2. 21.2 kg/m?

3. 20.5 kg/m?

4, 22.5 kg/m?2

Correct Answer :-

« 21.2 kg/m?2

63) The recommended daily allowances for iron for an adolescent girl are: /
foreiRaw # eat & forg Wigd dig ot sr=ifia amn &:

1. 40 mg/day / 40 fEerumE/fRa

2.21 mg/day / 21 foerma/fea

3.31 mg/day / 31 fadum/fea

4,35 mg/day / 35 ﬁl?ﬁ‘;l'l'q/ﬁ_rf

Correct Answer :-

e 21 mg/day/ 21 fietum/fea
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Ps UNAR] A S uRaR St gaare 1 ol START 81 foran g wif:
1. All of these / SURTeRT GHT

2. Lack of stimuli only / dd SISl & HHI gl

3. Lack of appreciation only / hdd YR &1 HHI el

4. No talent only / Had PIg UH Tl I8!l

Correct Answer :-

« All of these / IRIGd gt

65) Personality traits are usually conceived of as being. /

STHAR TR SATRIT TEI0T T F U H AM A 7

1. Continuous characteristics rather than discrete categories only / FHad (e Afor Y Fomg fARaR faLeara
2. All of these / SURISRT FHt

3. Descriptive labels rather than explanation only / I WPIHUN & ToIR GUHTHD AT

4, Relatively stable over time only / Had THI & Y SUETHA RR

Correct Answer :-

« All of these / IURIGd gHt

66) Synthetic detergents are better than soap for cleaning because they ./
TS & forg, TRy srmmeie (Ridfew fSSig) oA sTsm e wifp st
1. clean well in cold water/_d%tlﬁ)[ﬁ 3BI e T Y6 Hd %I

2. clean well in hot water / T U H 33t dre dith B %l

3. need hard water only / P HOR T DI SRexd _Epl?ﬁ %I

4, do not precipitate in hard water / FOR U H aafa T8 g g

Correct Answer :-

« do not precipitate in hard water / HOR UMl 3faaiftd gl gid %"I

67) Indicate the correct sequence of activities in the home management process. /
TR ya Y= uferar § fafafery & I8t orshd Y §Ra &9

1. Implementation, planning, feedback, organization / Hrafag =1, g, ufafesar, Wre

2. Planning, implementation, organization, feedback / q"]TrFIT, W'T_'a'q:[, W, ufafear
3. Planning, organization, implementation, feedback / ’CnTrFlT, I3, W, ufafeear
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4, Planning, organization, feedback, implementation / W, W, Qﬁﬁﬂﬂ, CARIESRE

Correct Answer :-

 Planning, organization, implementation, feedback / ZnTrl:ﬂ, I3, W, ufafeear

68) While washing cotton fabrics, colour can be prevented from bleaching by using. /

Tl U 4 & GRM, 5 & ITAT gRI FUS & T DI AT A DT S ST 5|
1. Lissapol / feramaia

2. Caustic soda / BTRCH HIST

3. Common salt / ATYRUT TH®G

4. Vinegar / RR®T

Correct Answer :-

o Common salt / HIYRU FHD

69) Government’s main preventive strategy for under-nourishment in children has been taken up by implementing
the ./

P PHEifad $3 g5 A $H N0 & T WeR 3t g1 FaR® 0y aurR 391718 81
1. All of the above / SURIdT T

2. Mid Day Meal Programme / FEATg HISH Ao

3. Integrated Child Development Scheme / TdIdd SId fAH I ISl

4. National Iron Plus Initiative / TI'@IT SO WY Ugd

Correct Answer :-

« Integrated Child Development Scheme / U Idrd STdl [T ATSTHT

70) Ergot, a fungus produces toxin, is associated with. /

3Tie, faured ueid &l SUA FRATUP Bdeh, & A1y GUIfoid giar gl
1. Bajra and ragi / TSR] 3R It

2. Jawar and bajra / SdR 3R STORT

3. Rye and maize / ﬂg 3R AT

4. All of the above /m Tt

Correct Answer :-

» Jawar and bajra / AR 3R STORT
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71) Fruit juices are primarily spoiled by: / el & 39 HEI =7 S ERTERE g od &
1. Bacteria and fungi / \—rﬁaTq 3R HaH

2. Bacteria and viruses / \_rﬁaTUl 3R ﬁﬁlTUl

3. Yeast and mould / AR GﬁT tl'Tﬁ:Q—C{

4, Fungi and viruses / hddh AR ]%'QTC[[

Correct Answer :-

o Yeast and mould / THR 3R tﬁtTg?

72) starts with the modern concept of child development. /
_ ora e $t nyfie rayren A IR= glar g

1. Birth of the child / &= &1 S

2. Latency stage / Tedt TRT

3. Phallic stage / Hiore TR

4. Conception / THf

Correct Answer :-

» Conception / THTET

73) involves simple repetitive motor movement or without object which is common during the first
two years of life. /

_ ¥ ag 9Tel 91 AR S1exTd aTell Hiew etafi T gidi 8, St sitaq & uga &l aul &b SR A B
1. Sociodramatic play / THISIRIRATT T

2. Constructive play / TIIH® WA

3. Functional play / PTAI® T

4. Make believe play / [d%T @_ aTd @

Correct Answer :-

» Functional play / PTHD WA

74) Fumigation is one of the methods of preservation of clothes, the other method is: /
o, PUS B HRa F A § A &, g R

1. Keeping in wooden cupboard / aﬁ P SR H @1

2. Keeping in plastic cupboard / WIRE®H DI TR H AT

3. Keeping in steel box /LA & f&es T @ T
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4. Wrapping the clothes in newspaper / JHRIR TH 2| OIOLJ% AUCeH

Correct Answer :-

o Wrapping the clothes in newspaper / HHHR U | Eb_EI@ Auc

75) Intrinsic value is also known as: /

AP 4eu &) 59 =g § Y A1 S @

1. Instrumental value / HgTIdh Hed @%ﬂ?@a@

2. Value orientation / e WWUT (a’v?laﬁﬁ@m)
3. Core value / B qa @'\’ a@

4, Terminal value / 3{=d Hcd (Eﬁhﬁ 3?1)

Correct Answer :-

o Terminal value / 3= I (Eﬁh?‘[ 3?1)

76) Keratomalacia is a sign and symptom of . /

WHUCAYGAl (FRCART) _ FHTTP Abd 3R A& gl
1. Iron deficiency / AT I HHT

2. Vitamin A deficiency / fgerfiq U Pl B!

3. Vitamin D deficiency / faerfiq St 1 oot

4. Vitamin C deficiency / faeTiom <t ot Sl

Correct Answer :-

« Vitamin A deficiency / fdeT&= T o] &l

77) Howard Gardener proposed 8 types of intelligence, which included: /

£ TSR 3 8 TR 9 g Y e Fova, oY iR &

1. Musical skills, Interpersonal skills, Fine Motor skills / g ﬁw, TRWURG aﬁw, qferd Hiex ﬁ"x’lﬂ

2. Interpersonal skills, Naturalist skills, Musical skills / RS ﬁw, ‘I@_W ﬁma, wﬂaﬁm

3. Fine Motor skills, Naturalist skills, Musical skills / dferd Hiex aﬁw, wﬁwaﬁmﬁ Tl EI’?I'SZWT

4. Fine Motor skills, Interpersonal skills, Naturalist skills / NING nﬁaﬁw, Wﬁ?ﬁ"\’lﬂ, ﬂ'@ﬁﬁﬁﬂ AR

Correct Answer :-

« Interpersonal skills, Naturalist skills, Musical skills / TREIR® BRI, UG e HId, Wit HILa
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78) The most ideal type of parenting is thought to be: /
, UT-UT90T ST HE™ T TR AT STl 5 |
1. Neglectful / SURATg

2. Permissive / 3JHIGH IT TG
3. Authoritative / SMABING

4. Authoritarian / 3{fHRATG

Correct Answer :-

o Authoritative / IREAIRE

79) The olive green colour of leafy vegetables formed due to intense heat is becauseof ./
Mol & FRU R IR FTAERIT__ Fraws A FRfasarg 21

1. Tannin / %ﬁq

2. Flavones / TRIaY

3. Carotene / W:f

4, Pheophytin / flramrgies

Correct Answer :-

» Pheophytin / rarmRieT

80) The cut offs given by WHO, (2006) to categorize a child ‘normal’ as per BMI for age is: /
FTHIME F AR, TP T I WHRY qiPpd B & [T SguaSit (2006) RT T 7T Fe 341H 39 g
¥ R E:

1.-2SD to +1SD / -2UdS! § +1THS! b

2. -18D to +2SD / -1UHSI ¥ +2THS| dPh

3. -2SD to +2SD / -2UHS! ¥ +2UHS!

4. -3SD to +18D / -3UHS! ¥ +1TTS! AP

Correct Answer :-

« -2SDto +1SD / -2U¥Sl ¥ +1THS! d&b

81) The scientific study of man and his working environment is called ./

AT 3R SHS HISR! AAERT & IS AT B FET A5
1. Work supervision / B qdeo
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2. Demography / SRS

3. Ergonomics / AHGE Al R @ﬂqﬁaﬂ)
4. Occupational health / SATAHIRAS WG

Correct Answer :-

« Ergonomics / $HGEIdT ] (ST HI1EaRT)

82) The best indicator for physiological maturity during childhood is present at: /
FIUA F R ARG TRUSaT & g 999 a1 Hha @ 8

1. Adolescence / fHRIRTGRIT

2. Height and weight / G)‘_tl'l_sc 33? dul+

3. Skeletal development / abTel fawr

4. Muscle tissue /Il'm'ai’ﬁ Hdd

Correct Answer :-

« Skeletal development / HpTd [dB g

83) An example of the evocative child—environment interaction or correlation is: /
SEYP T - ITATARYT TR U IT HeHGY BT TS IGT60 3
1. A shy child is extreme bookish and socially avoidant /
T Hfe T Sifd UGTe § 3T WHIe 0 J g9 ard |
2. None of the above /E'Clﬁaﬂ ﬁﬁﬁ_g 'J-ﬁ:lﬁ

3. An attractive child elicits interest and support from adults /

TS 3THYD ST JULD| J Fr MR JHT U FRar g

4, An extroverted child seeks out the company of only similar children /

T JfHE! S dad U 61 aRg b Sl o 1Y B TATR PRl & |

Correct Answer :-

 An attractive child elicits interest and support from adults /

TP HHYD T GUh| I T 3R JHT Ued e gl

84) Which of the following is considered to be protective food group /
FraferfaT & 3 S a1 JReres Wrer aYg 9 =1 ST 8:
1. Fats and oils / Il 33'{ ad
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2. Fruits and vegetables / o ¢l 3R Tlesat
3. Cereal and pulses / 3{TST 3R g
4, Milk and milk products / G¥ 3R cd3dlq

Correct Answer :-

« Fruits and vegetables / T dl 3R gfsat

85) Which of the following is used in making a more detailed study of some particular part of the process? /

i & 2 v U &1 e faga srera= w9 ° Fuferf@e & @ e Suai fear sar g
1. Cycle graph / bh ITH

2. Micro motion film / HISsh! HIRH fther

3. Process chart / Wfshar aT1¢

4. Operation chart / 3{TORTH ATE

Correct Answer :-

« Operation chart / ST A1

86) Which one of the following features is not applicable to striated muscle? /
T afdfa faiware @ @ ®17 At ve Yaq Uit & fore arg =& g1t 82
1. They are usually attached to the bones. /
q AR TR IRRT ¥ G gt 8|
2. They are uninucleate. /
dTHd Hhad 5
3. They show alternate light and dark bands. /
J dHied® Bech 3IR TTER US feward gl
4. They are long, cylindrical and unbranched. /

3 ds, SR 3R IR WRad g

Correct Answer :-

« They are uninucleate. /
JTHd Yha® gl

87) Which of the following fabrics are known for their strength? /
FrafeaRad & Q #1991 $UsST YD) didd & fore ST Sirdn 82
1. Satin and casement / HIC SﬁT HIHC
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2. Mulmul and satin / HAH 3R e
3. Denim and casement / ciEE G?R HHC

4, Casement and mulmul / FgHe 3R AaHA

Correct Answer :-

¢ Denim and casement / S GﬁT HgHc

88) Mycotoxins are produced by -/
BIECa e R ITed §id &
1. Bacillus /@T-ﬁ

2. Moulds / %G
3. Yeast / THR

4, Virus / ﬁ'w

Correct Answer :-

* Moulds /qv_qg_c{
89) CANCELLED
Arrange the following steps in the correct sequence.
I. Arrive at statistical conclusion
II. Analyse data
III. State the research question
IV. Collect data
V. State statistical question

VI. Arrive at research conclusion /

a1 3 gepH | fFafRed @roll o) afRud 31
1. gifereta fAeed w ugesn

II. ST &1 f[axAwor H=AT

IIL. SNY Uy ST

1IV. Wit 9y Sarm

V. ST HUE BT

VI. YT ey uR ugesn

L. VILLIV,IIL VI
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2. 1L IV, IL V, I, VI
310 V, IV, 1L I, VI
4. 1L VLIV, LI, V
Correct Answer :-
o IILV,IV,IL I, VI

90) CANCELLED

Outdoor publicity media include: / CIRE (GI'IGE@T) TR Hifgar ﬁﬂ'ﬂTﬁW%
1. Flash cards /U%QTW’&F

2. Posters and banners / GIReR 3R SR

3. Flip charts /]%W?I'l?‘.c

4. Pie charts/qT_&FEﬂé

Correct Answer :-

e Flash cards /U%QT PTS

91) CANCELLED
Which among the following is the community services offered in the interest of the public? /
Frefafea § @ o I argeiRe Qamg, s & {9 W wga @ o 82

1. Transport, social and conveying / L{i\(ds"l, HIHIfGich, IR

2. Protection, transport and communication / W&‘WT, uRkd B Gh? IR
3. Communication, social and transport / TR, Wm, Uﬂﬂ%q

4. Social, reporting and protection / W, ﬁq‘rﬁﬁ, TR&UT
Correct Answer :-

» Protection, transport and communication / TREI , Qﬁaﬁq GhT AR
92) CANCELLED

When a hypothesis is false but the experimenter mistakenly accepts it, he/she is making a ./

?wmm@mwm%ﬁﬁﬂmmﬁsﬁﬁwm%ﬁw Y TET
I

1. standard error / HI TP Zﬁr
2. probability error / ?i‘l-ﬂa:ﬂi%

3.typeIlerror/ E’I’{CTIIZ%
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4. type I error / CISU I'a,’f%

Correct Answer :-

o typeIlerror/ EEUIIZI%

93) CANCELLED

The maximum permissible residue in foods allowed for DDT is: /

DDT & 1 srgaa W uerdl o siftreaw e srafkry &:

1.7-10 ppm
2.5-10 ppm
3.10-20 ppm
4.3-10 ppm

Correct Answer :-

94) In fruit juice preserve, juice and sugar ratio should be: /

B I TRV B, T 3R A+ &1 ergura A= g =nfew:

1. 25% fruit juice and 45% crush / 25% WW@ 3R 45% B

2. 25% fruit juice and 65% sugar in fruit syrup / 25% WW@ 3R Bal & RRUH 65% Tt
3. 25% fruit juice and 65% crush / 25% UO_(’I-TWW 3R 65% H

4. 25% fruit juice and 55% sugar and crush / 25% Wﬁﬁ@ 3R 55% AT 3R B

Correct Answer :-
+ 25% fruit juice and 55% sugar and crush / 25% tﬁﬁaﬂ@ 3R 55% AT SR HaT

95) Which of the following finishing techniques is most appropriate for a fabric to be used on the seats in a
movie theater? /

R figer # Wt W gww g9 9 s & R Fafafea & @ o1 3 ufvsswo de-ile aed Suge 82
1. Mildew proof and antistatic / TG 4T SR Hfadifae®

2. Non-pilling and calendared / TR-fAfTT 3R Haiss

3. Soil-resistant and fire-retardant / YU 3R rfRyeh

4. Sanforised and water repellent / STBRISTS 3R oId faHy®

Correct Answer :-
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¢ Soil-resistant and fire-retardant / Itl'&‘ _gfeRiel 3k ifiRieht

96) Which one of the following statements is INCORRECT about ozone? /

SIS & fowa & R 3w e Hy= & & o9 1 U@ ed 772

1. It is present in the stratosphere. / I8 THATT HSd (TSIHRR) & ANE B

2. It protects us from UV radiations of the sun. / dg g Eif & t@ fafeon & smar ]l

3. Depletion of ozone is responsible for green house effect. / 3 &1 81 U 8139 UHE & g mﬁﬂ%’l

4, Tts depletion is caused by CFCs and aerosols. / STT B9 UK Td WIEIA & HRUT gl &

Correct Answer :-

« Depletion of ozone is responsible for green house effect. / WWWWWUW%%@ JRa™] %l

97) Microbes that generally enter the body through the nose are likely to affect ./
1P & WA | YRR T U B T Siary] (ATSehisd) AT=ad: P TR Hea B
1. liver / dd

2. lungs /m

3. gut/\’rﬂa

4. lymph nodes/?ﬂﬁmtﬁf

Correct Answer :-

e lungs /m
98) During respiration, exchange of gases occurs in the -/
4O & SR, arg BT MEH-Ue= o giar gl

1. alveoli / ATGDIFHT
2. bronchi / YT
3. lungs / m

4. blood / ¥a&d

Correct Answer :-

» alveoli/ W@W

99) Hypersecretion of growth hormone results in gigantism. Hyposecretion of the same results in: /

gig ERAM & SIRRIANP I » TRHVRGEY HASTTar gia1 g1 A URumH & gk & = ghm:
1. Diabetes/ﬂ%[a_b'
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2. Dwarfism / THT (SalUhoH)
3. Goiter / 99T

[N N

4. Cretinism / STSATHIAT (oh1c oH)

Correct Answer :-
« Dwarfism / ATETAT (SaTted)

100) A balanced diet contains
T g Wem #, __ wét e @ g

1. all nutrients / 94 99 d@

2. carbohydrate only /WW‘@W’E’E@E

3. protein, carbohydrate and fat /Eﬁ'a:[, Eb"l@ﬁi’l%@»‘c’ SR T
4. protein only / Fad WA

in right amounts. /

Correct Answer :-

o all nutrients / 94t TIY® T
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